
1.WULWH KRZ PaQ\ SHRSOH WKHUH aUH. WULWH KRZ PaQ\ SHRSOH aUH OHaYLQJ. WULWH KRZ PaQ\
SHRSOH aUH OHIW. E[aPSOH:

2. KQRZ KRZ WR ILQd KRZ PaQ\ JUa\ RU KRZ PaQ\ ZKLWH cRXQWHUV. E[aPSOH:TKHUH aUH 10
cRXQWHUV. 6 RI WKH cRXQWHUV aUH ZKLWH. TKH UHVW aUH JUa\. WKLcK aQVZHUV VKRZ KRZ PaQ\
cRXQWHUV aUH JUa\? CKRRVH YHV RU NR.

10 - 1
6 - 4

10 - 6

3. TUacH aQd ZULWH WKH cRPSOHWH VXbWUacWLRQ VHQWHQcH. E[aPSOH:

4. DRHV WKH QXPbHU VHQWHQcH PaWcK WKH SLcWXUH? CLUcOH YHV RU NR. E[aPSOH:

8 - 2
8 - 3
7 - 3

5. MaUN XQdHU aOO WKH QXPbHU VHQWHQcHV WKaW PaWcK WKH cXbHV.

6.CRPOSHWH WKH VXbWUacWLRQ VHQWHQcH WR PaWcK WKH SLcWXUH. E[aPSOH:



7. SHOHcW WKH cRUUHcW aQVZHU/ aQVZHUV:

13
12
10+2

8. KQRZ KRZ WR ZULWH aQd VROYH a QXPbHU VHQWHQcH IRU a SLcWXUH VLPLOaU WR WKLV:

9. CRXQW E\ 10 (FRPSOHWH PLVVLQJ QXPEHU)
L.H 10, ___, 30, 40, ___, ___, 70, 80, 90, ___

10. GLYHQ JURXSV RI 10, NQRZ KRZ PaQ\ WKHUH aUH LQ aOO

11.  KQRZ KRZ WR SXW QXPbHUV JUHaWHU WKaQ 10 LQ cRXQWLQJ RUdHU.
L.H: JLYHQ QXPbHUV RXW RI RUdHU, ZULWH WKHP LQ RUdHU

12. GLYHQ VHYHUaO QXPbHUV, NQRZ ZKLcK QXPbHU cRPHV QH[W/ bHIRUH:
L.H: 80, 81, ___, 83


